W< =

p www.customs.go.kr
CHEQIA 042-481-7616~7

b = 24 Xt 2018. 12. 17.(8) EHERE A MY S27|E D}
282 AR (042-481-7845)

= i | N =2 _ _ ciC}

HERE | 0IBS (0a2-481-7810) HER | ned zow (042-481-7848)

2018¢

12 2 == FE(=3X)

7HE 25 == 5004

el =

=d =L,

ST
=l | S

[ (‘18. 118 ==& &

O (&3 118 22 482

Sotet 5184 €d, =

)
A Z1,
g2 11.5%

dE SE "l 82 4.1%
SOtet 4689 Eel=,

EX 499 €2 JIS6N ‘12.28 0|= 82048 A EX €4

(Ehel @ uiok =y, %)

on 20174 20184
= 118 1~11% 108 118 1~118
~ = 49,707| 524,654| 54,907| 51,766| 557,010
(M =7 chu]) (9.7) (16.5) (22.6)  (4.1) (6.2)
PN 42 014| 434,949| 48,486| 46,835| 491,081
(HdE7|ou)) (12.8) (18.2) (28.1) (11.5) (12.9)
FoAx=x]| 7,694 89,705 6,421 4,931 65,929

- (8 FR £EE=2 I B
B8P (166.7%)= SIt, SEXHA0.7%).

- EU, *'7+i§ =9§ LNG 7 S
- (B0HE) =2 === 30l 0l
S

2 Bt 3

(2.5%), LE(9.1%)

A (11.7%) DR RS™(21.0%).
FHE IDIDI (A31%)= A

EiElz S visH 45 Bt

CR,
Hsols 247 LimE} S MRHE 48 7t

S T

2 T&5to] 9 g ghofl Z7t Mg

H

(7.3%), EU(23.7%), HIE

_D
2.7%), ES(130.6%)S2 2L

+UES S0 |738.4%).022| BHEHI(80.7%).
Bt JIAHFR(~2.9%) SEEXHA18.6%)E &4
%J ) 218(12.8%). B S (18.4%). =61 (49.6%)
EXH118.6%).2T(A5.6%) S T4
X 25.3% I &AR(38.4%).ItA(66.1%) S2
(A1.0%).&(16.2%) 2 L2
M. 3.5% 24) M2l Bt=H(80.7%). X\HSX £3(5.5%)
SOt AR (~2.9%). PESAIIN(A10.0%) SE T
) =2 U= S0l 36.5%), 5S(24.9%), EU4.4%),
F

(16.4%), HIEE(9.9%) S2 Bt L2(n8.6%)2 &2

w0
o= o

on 22

o ria

|
D/‘\
=}
.HJU

Sl
>
W
i
o
=
00t

>

*2 518 R Yl 44 A JIF, 7THE
g =0 18~118 & (5,570 )2
AN JIEE JISotH =& 8& R

)]

O
=M=

0 Jp o

A=

=
A=
=

0

2
*.I%[IJ

pr & 4 IO
o

©(19,17.99) 551, (2¢],'18.10Y) 549, (39/,’18.7&) 518
S0H (o] E18Y) : (14)5,232 — ('15)4,844 — (16)4,504 — (17)5,247 — (18)5,570

O 118 =E3F @z A7MNS, NSk F5= S22 St
02— (7)32— (8)1.5 > (9) A16.4 — (10)26.3 — (11) 0.3
g€d =1,

*
4
nﬂw
©
ir)

n

[p8)

*
>*
o
{
1
-+
ul

o

O Et=XA
169 118 Ol= 25048 &

* HIEA| 50K 242) 1 (18.6) 113 —(7) 106 —(8) 118 > (9) 127 — (10) 119 —(11) 110
HHTH| ~EST18(%) : (18.6)37.3—(7) 31.1 >(8) 31.6 > (9) 27.7 > (10) 2.4 —>(11) 11.7

O 8x =2HIF=s =HMRIt &2 dF SF UiH] 36.7% St

e $/8iR) : (18.6) 75.7 — (7) 76.7 —(8) 76.9—(9) 77.0— (10) 81.4 —(11) 80.6
RUEDIE7+2(%) 1 (18.6) 48.6 —(7) 57.5—(8) 54.9 —(9) 45.6 — (10) 46.7 — (11) 36.7

Al(20199 28 7Hx| L& 4R HYE

A
co= T

+=£'0] 110 Zd2 7HE g5 100

K&t SOt

A0
* =
A0
=

o
ojo

Ml 7|FECR A7 A2 A

rir
>




— O [=QEsu] 4oNS @AM BSH L8 So =)}
B S A=0l535 0 OOA ,
20184 112 =882 % F5+/X NEHE DHEATI I SEX SS 24

o (ARHE") d4E =2 Udl 21.0% SOtst 41 90t e
* 2H20.5%), 5=(18.5%), dE(12.7%) &2 HIE2Z F

1>
!
rol
to

o (M3 88 s2 UHl 1.9% SJt&t 3
" =2 HHl 4.1% 3018t 518 el JI=E St A GOl 9RDF O

£ 2] A - -

o BFERI(11.7%). AR HSB21.0%). B RS (1.9%). 82 (166.7%). NS Xt o (SMHSEAII) 8E =9 HH| 5.2% =Itst 19 ey
BE0.1%) S8 = =2 %) RFHESA SLPS _ _
TB0I%) SE S0 SEXA0.7%) FESEIl431) AT o (RESAIPDN) HE S OH] 3.1% LAS 199 9FBH 22|

A [ X o = o DI—_JI\_
CIHFOI A (A38.0%) It KIS (20.2%) s & e R e g o SxiDl
o (Bt=d™) &3 S€ Uidl 11.7% =Jtst 109 7& 0 &
O Dl2(7.3%).EU(23.7%).H'”§L|:‘|I'(2.5°o).%§(9.1%) =2 %jh =2 « (4 .2%), E2(20.0%), HELH9.5%), 0|=(9.2%) E2| H|Z22 & &7}
o) =% o, =Eo DA _
(A2.7%). BS(130.6%) s T o (WACIHIOIA) dE =& [HH] 38.0% &ZAst 7S e
CEE SEW O SUE D o (58X MY =€ UHl 0.7% 248t 37 £

e ot e * 2|0} =&22l 0|=(H|E38.5%) TE2 3.5% U5t 2L, 2{A|0H39.5%),

" by wg | % 2(27.0%), Ml ELH305.8%), S=H|7|2EH150.6%) S22 +50| E7}

m 513 40 57 511 518 5z o6 0 00| o (AsXeSs) 83 =2 Hl 0.1% =Itst 18 &0t e

0| 453 451 : 2 =

- . K o (ME) ME =" fHl 166.7% =It8t 209 =

_ & v . K 2 ZToH AEi 57I-EE >

- | m (ehel: Hd S8 oyl %)

5 " & Med (9711 12 181 2 3 4 5 6 7 8 9 f0|M

] 11
e e T s R s e e MORZE |A172| 439 312 316 138 1.9 579 41.8 687 449 477 165 755 21.0
FEE T Sesdasanen HUME | A35) 77 95 221 AT1 68 A12 63 0.6 325 160 A%8 230 1.9
JHHE |A100]A218 AR2 A28 A145 ATE A3 AQ1 A175 A162 A%2 A319 A0.8| A0.2
o (_J'\_é%%t) E”__ %% EHH' 0.3% %jl'él' 1,69801_" % SMEADP| | 22311 12.9 A100 144 6.2 A19 A126 65 207 9.2 238 A6.2 409| 5.2

o SMEAIP | A143| A107 A265 5.4 A217 AM94 AMO 25 A34 53 A171 A338 AN11| A3
(CH):BF &, 2K S8 ofH| %)

S wEH | A10] 684 676 528 401 438 362 432 373 311 316 277 22.4| 117
T M6 T ote et o2 3 45 6 7 8 9 10 URCBIOIA | A256] A185 A199 496 A213 AI9Y A2 A211 A53 A95 A129 ABT A7.0]A%0
Z2F (19,466 1,602 1,719 1,714 1,572 1,583 1,721 1,676 1,661 1,729 1,722 1,616 1,71 1,698 2834 |M01| 1.8 A6 143 A142 AB3 ABS ADY A93 A138 01 A2 36.8| A0
(ZZ8) | 702| 2.4 38 58 A26 AT 93 | 16 02 32 15 Al64 263 03 NEAEE| Ad4| A3 A1B5 AT6 A185 A120 57 142 12 65 A0.2 A188 37.2[ 0.1

M8t |A137|AT82 137 132 32.6 A31.0 ATS8 AT A826 AT35 ATA2 AB54 A557(166.7




O [FR2 X4

2] DI EUHIEE

o (8=) d¥ S Ul 2.7% &

- HZ2el

BEEAI(12.9).4
HEZ &HI(118.5)
(~51.6). ASAE B5(125.2). CIAZYI0THE HIE

co =
ST S

A8 1369 2®Er ¢

SHE0.4). 2 EH
I, SESAI|I(A39.8).H

F=HI|D

{HIT £8 20>

=2 AH((»16.6)

[(39.1).BF=H
HCIHIOIA

=
s2

16 |1

71112 181

3

o~

5

]
2

4 |

1,244

140

138 134

136 130

139

o
N
w2

A9.3

0

204

149 244

16.5

231

30.0

29.5

&

— —

o (EU)

- NB8Hg279.9).52
Heel g

IHE RIS (

=2 idl 23.7%

P& X(34.2)
OMNE

T o

A8.0).

— |. EL EOI )

HIEREA17.7). T2 A

< HEU ¢

CAIWNI=IN;

s2 S,

ADID1(A38.3)

=(41.6). 2et=27.7).0[E210k1.0
(A16).AHICALZE) S

=

=

2212.5
HAUI|I|(~8.5).

[ )

Sotet 50 5 gt

&

2FA

[ o — [ R

ol

ol et

=E

Xl(73.2).

s
FEZ(A45.7).

S 00H=2 3},

8l=2 &4

20| >

(T - 25,

1711 12 181

2

3 4

5

6 7 8

466

0 46 &

44

2 50

50

4 4 4

A3

25 1 A9.2 104

12.0

219 A218

3.8

14 69

A0 A

2.1

o (01=)

- D22l BFY=HM07.9. JMSK BE075). 8803065
SEXHA3.5).

(40.2).2| <F

PSIE|

—— o

£103.1)

IHEHIE(26.2). 2 FEH

=2 WUibl 7.3%

s2 3

Sotet 68 5Bt

oME

T O

22
&) 9 F

AD[J1(~45.8).

FHI|D[(A49.4). 2L EH(A332) S &4

< HUR Az 20| >

oY =2y, dd S O %)
F 216 [1711 12 181 2 3 4 |5 6 § 9 10 1
+ZM 1665 | 64 53 52 47 61 59 62 64 62 60 58 70 68
(ZZLE)| A48 115 AT8 44 A9 A20 A5 114 74 87 16 A8 477 13
o (¥e) 8E =2 UHl 9.1% ZIt8t 272 HA0H &
- SFHISE58). 822 THeos). HIZ2l BHEXee). Bt MESE
2H1(110.0). 82D D1(33.8).2122(17.9 2 I, AsSX 23
(A7.3).2(1265).HIE3E(A333).2ESAD|D(~d472) SS 24

(T 1 &3, A 52 CfH| %)
T 2961711 12 181 2 3 4 5 6 7 8 9 10 1
SEM (244 25 24 26 24 26 25 25 26 25 24 25 28 21
(ZLE) 248108 102 213 196 87 178 1152 98 176 144 A19 503 @ 9.1
o (BEs) 8¢ =€ HH] 30.6% 248t 15 780 &
- MAHIS1525.2%B64.3).8FP2F 004 s FIH X
(126.9). 8L HS(~19.2). XtS Xt S E(A38.1).3t S XHA11.7).
&R B(n626) S 24
- 0l2t330.2).01A242(20.2). 0|8 E©28.3).28H2.) S RIM==2 =D},

At CIOt2hE[ Ok~ 42.9). OLEF OOl 2l E(227.0). 2 M 2l (A31.3).

20 E(a31.4).018HA95.7) S

12)0i=2 &4

< %J.ZE A= iol >

(T9 - 28, M S3 oiH %
+ 2|16 1711 12 181 2 3 4 5 6 7 8 9 10 M
TEM 126223 20 19 19 19 2019 18 23 17 15 16 16
(BZE)|A138|A136 A190 39 A10.3 A283 A1 ABT A10.7 212 AB1 A272 A4D A306




o (MEY) 8E =3 Ul 2.56% SIt8 459 28 B £ o (&HIM) 3.7% 3t / 2AR(128). IHEHIS(18.4).221071(18.2.3(15.8).

= ct =Eo = <2 =O JFA
- 2HEAIIG015).H2E B RHI(38.8). HECIHIO| AL, SHHH19.6) S2 S S2XKA18.6). 27U 15.6).IF(n44.0) S2 2D
NENE44.9. 5™ L HXI66.2). 523058 s2 S, o (X)) 25.3% =IOt / ER384.IHM66.1). AHIS47.3).212A4=(8 5).
HLUIIN(225.4). B8R MB(A74.2). 32X (242:6) S 2D HBo00) ES I}, LROISA10).S(16.2. DE(A67) SES 2A
< HHEY 22 20| > - (88 849 =2 Yl 32 1.2% SO, =M 38.4% S,
(Te -9 g2, dd =2 Ol %) A0Ick)} 36.7% =0}
T o246 1711 12 181 2 3 4 5 6 7 8 9 10 |+ 11
&M 1326 44 41 43 36 42 37 38 39 39 44 39 42 45 < e Aol =0| >
=72
(ZLE)| 175 | 463 272 532 140 A31 A175 A9.0 A89 7.7 159 A166 99 @ 25 [CH9] AIDH , WIF b2, WO T2, §/bbl, (Hd S2 Ch], %)
TE M6 1711 12 181 2 3 4 5 6 7 8 9 10 11
2 ‘—“.\-%' == == | 1,439 126 132 132 125 109 116 127 131| 129 126/ 108 131 127
S S| (4.4) (2.4 (0.0) (7.1) (62 (M40 (2.4 (2.5 (13.1) (3.6 (269 (A8 (5.0 (1.9
HE| 0D 2% 00 ) 63 (M0 24 (25 (13 (38 (69 (18 (50, (19
= YAN YAN
= ] Mg =2 =I5} g d = : : : : : : : : : : : : :
O[3 &) 849 S2 UHl 11.5% SJ1et 4682 28 JIS = o | 44,295| 5,447 6,223 6,504 6,363 5,350 5847 6,715 7,312 7,271 7,133 6,135 7,818 7,536
5 7 |(A19.6)[(23.4) (32.6) (32.3) (29.6) (2.9) (31.1) (38.8) (68.1)|(63.2) (44.2) (28.4) (54.0) (38.4)
< 94 AOloH QI =ILE 20| > 49| 41.8] 50.0 639 66.8 69.0 66.8 687 72.0 757 76.7 76.9 77.0 81.4 80.6
B 7} (A23.2)[(20.5) (32.5) (23.6) (22.0) (19.6) (28.0) (35.5) (48.6) (57.5) (54.9) (45.6) (46.7) (36.7)
RN S
EEHE(®)
T00 40

. o (RH2H) 35% 24 / HZal BHEME0n. SR 225, 2 HE
& e i : Ly P O v B (125).8371@267.9 S2 B, INHF(~2.9.26S8I(I1(£10.0).

2.9). 84
HAUDI(A8 D). MEE HHl(A449) S 2D

600

300

200

- a0 O [NE] 52(6.5%).535(24.9%).EU4.4%) 012 (16.4%) HIE
"zl 2z 3 4 5 6 7 8 9 10 10 1zl 2z 3 4 5 6 7 8 8 1001 " (9.9%) %8 %jl‘ % (A8.6%). EHFL}'(A15.1%) %8 jl:]}-i
SEM  —— SUBEASAOHD

O [B2Y] AHIME.7%), X (25.3%) S, HEM(A3.5%) 24 O [+~4=8] 84 S8 0l 8.4% I8t 54032t £
< 8EE £ SUE F0| > < £UAEY 20| >
(29l 1 59 Of|, %) (29l 0t &, 3 S of| %)
T2 6|70 12 181 2 3 4 5 6 7 8 9 10 M T 2|6 1711 12 81 2 3 4 5 6 7 8 9 10 1
2HIM | 1.0/ 11.4 12.0 24.0 18.0 7.6 16.0 17.3 10.5 8.2 Al4 A7.8 350 3.7 S 57,921 4,985 5,233 5,321 4,897 4,893 4,973 4,969 5,135 4,986 5,213 4,674 5,193 5,403

XA | A128|12.5 17.0 20.3 16.00 5.3 19.4 19.1,24.8 31.7 25,6, 9.7 38.4| 25.3 (ZZ8)| 2.4 |A09 A37 25 30 A64 49 33 06 16 06 Al26 122 84

A2M | 22.0/13.8 9.9 22.4 12.7 4.7 8.9 2.9 263 1.1 265 A138 11.4) A3.5




o
o
o
=
4
]
11
>
X
Om
X
s

3| R29=X

0 499 2 =X oA O «=eld JI=E
A= AIA
123 28 REH 82713 ALK BAX| 5Xt V|F 1}_'_?22;
S== (29l e 221, %)
O =2 EX= + 2 17 119 18 112 1rd ) o1ed
=2t | 17112 |17 118 | s48
O ZLto} : 802 4Fot ety O & =2 : 37 7X0F 2y 1. M2 3 AR 779 741 A49] 721 7,282 2.3
O HEL - 2891 9®Bl ©2f O o] = : 199 770l ok 2. 8= E—J_?_E 4134| 4863 17.6| 38,980 51,120 31.1
o MBHE 3,462| 4,190| 21.0| 32,020 43,633| 36.3
3. Z3Y HE 3,049| 3,138 2.9/ 33,064 32,867 A0.6
oM F A 120 114] A48 1,283 1,346 5.0
] _J'c_g EII__—_,_} o AF 473 469 A1.0 4,767 4,768 0.0
o of 186 196 53| 1,828] 1,922 5.1
O = £ _570 pxiat ool ol & - _4roi axiol ot o DREjO Y 5= 268 289 7.8/ 3,350 3,356 0.2
S S dgh 28 O & = 1591 8Hek & o2 45 59/ 33.3 529 419| A20.7
O3 F: -139 = OE U -2 gxo} chyy o Eo|&® 258 274 6.1 2,658 3,040 14.4
4. Z3tst IHE 41,746| 43,024 3.1| 445,490| 465,740 4.5
o3I E 5901 6,153 4.3| 59,544| 68,210| 14.6
< YW Dojax ~Zol ool Zo| > o HUME 3,741 3,812 1.9 43,147| 44,482 3.1
o JIARe U7 5,947| 5,922| A0.4| 57,578 63,739| 10.7
o HMI|- XN Z 18,109, 17,887 A1.2| 174,668| 199,380 14.1
551 s19 (I E) 619 618| ~0.2 7,717 6,672| A13.5
o o am w5 LB s s AN (HEE7]7) 3,099| 2,969 A4.2| 29,591| 27,962| A5.5
43 T - #HEe 829 756| ~8.7| 7,985 9,695 21.4
. Ao % 30 22 T e N/ " - 2dEM7I7| 2,056 1,992 A3.1| 18,718) 16,051 Al14.2
12,884 13419 (8 = ) 9,828| 10,975| 11.7| 90,527| 120,415/ 33.0
1072 16050 — e SI= LTI EN 1,136 705| A38.0/ 13,361, 11,036| A17.4
8,065 . o =& &y 6,983| 8,105| 16.1| 101,336| 78,461| A22.6
Fal ] B e B PP UL "“1,,531 (S BXISA) 3,728| 3,701| £0.7| 36,080 34,728 A3.7
. am 2832 (RIS E) 1,877 1,879 0.1 20,619| 20,520| A0.5
(M =h 750/ 2,000| 166.7| 38,903 17,523| A55.0
jm_ﬁ o1 s o o e s s z A 49,707| 51,766 4.1| 524,654| 557,010 6.2
—$Q';¢XI(‘1'I"._*%E+J — sz e ¢a°ﬁq=e




Lt SOHXIA)E

Do
4
o
[
Jd

3 2 P7d 1€ 184 1€ — 1171?% 1’1?:&% —
M =& 49,707 51,766 4.1 | 524,654 | 557,010 6.2
o = 6,382 6,848 7.3 | 63,314 66,288 4.7
2 = 2,520 2,749 9.1 | 24,366 28,159 15.6
E U 4,078 5,045 23.7 | 49,569 52,192 5.3
s F 997 711 | A28.7 | 19,005 8,903 | A53.2
i Lt ot 355 463 30.6 4,403 5,284 20.0
s ot 13,368 14,794 10.7 | 135,736 | 154,301 13.7
(HES 4,412 4,522 2.5 | 43,695 44,529 1.9
& 3) 3,752 3,109 | A17A1 35,128 43,143 22.8
(M7tz=) 824 1,380 67.5 | 10,426 10,607 1.7
(th2h 1,290 2,307 78.9 | 13,674 19,436 42 .1
s = 2,260 1,569 | A30.6 | 22,354 20,157 A9.8
R 14,001 13,624 | A2.7 | 128,272 | 150,308 17.2
= 4 2,328 2,040 | A12.4 | 25913 25,819 AO.4

5(%?%@ 736 1,069 45.2 8,590 9,963 16.0
s+ 3 1,122 1,200 6.9 | 10,967 13,007 18.6

3D BLES ®E S) HHIY.

@ S0t AX= &3, AJIEZ, et AN ZEIAS

ot 254
(CE R =E )
22 |1Eng ed g 1rd | e

=2k (17118 17 11Y | zus
1. & d°] X 6,596 6,840 3.7 | 67,234 | 74,760 11.2
o IE 551 555 0.8 5,467 6,149 12.5
o EF x| 1,701 1,904 11.9 | 18,041 | 20,547 13.9
() 27 40 49.6 206 520 | 152.2
F &) 87 87 0.3 828 953 15.0
o Ui AH|XY 2,802 2,708 | A3.3 | 27,325 | 29,333 7.3
(FHHH =) 421 498 18.4 4,550 5,036 10.7
(&8 1,146 933 | A18.6 8,644 | 10,231 18.4
() 55 64 15.8 2,099 949 | A54.8
(EZ8E) 24 29 21.4 346 406 17.4
o H|Lf AH|XY 1,542 1,672 8.5 | 16,400 | 18,730 14.2
(el &) 794 895 12.8 8,372 9,721 16.1
2. X 20,236 | 25,346 25.3 | 211,317 | 255,988 21.1
od B 9,615 13,656 42.0 | 97,688 | 133,243 36.4
(o) 5,447 7,536 38.4 | 53,380 | 73,994 38.6
o = 1,740 1,911 9.9 | 18,437 | 20,231 9.7
o A3y d= 714 730 2.3 7,739 7,984 3.2
o &7 X 78 83 7.1 1,065 1,085 1.9
oM R 7 359 375 4.5 3,755 4,074 8.5
o33 E 3,877 4,408 13.7 | 40,008 | 45,988 14.9
o H A 1,641 1,732 5.6 | 18,712 | 18,071 A3.4
o H|HZH 1,053 1,063 0.9 | 11,054 | 11,855 7.2
o 7| Et 1,159 1,385 19.5 | 12,859 | 13,457 4.6
3. X% 2 = 15,182 14,649 | A3.5 | 156,398 | 160,333 2.5
o ZAIRe MLUY|7| 5,116 4,282 | A16.3 | 57,021 | 55,969 | A1.8
o MI|-HXIH = 8,965 9,151 2.1 | 87,398 | 91,774 5.0
(MEE47(7]) 2,830 2,560 | A9.6 | 24,674 | 24,750 0.3
(GLE=:1)) 3,759 4,430 17.9 | 39,001 | 41,959 7.6
o &= & ZFH| 822 1,083 31.7 9,981 | 10,539 5.6
o 7| Et 278 133 | AB2.2 1,998 2,052 2.7
s A 42,014 | 46,835 11.5 | 434,949 | 491,081 12.9

2 d4 SJ| tolg.

- 12 -



Lt. SIHXI)E

174 ‘181
T 2 7d 11 18d 1€ . .~
=z2t=2 | 17118 1711 =72t2
M 42 014 46,835 11.5 | 434,949 | 491,081 12.9
ol = 4,195 4,883 16.4 46,383 53,533 15.4
2 = 4,732 4,325 N8.6 50,177 50,328 0.3
E U 5,113 5,337 4.4 51,853 57,191 10.3
2 = 1,597 2,009 25.8 17,530 18,912 7.9
70 o ct 348 408 171 4,545 5177 13.9
= ot 6,424 6,749 5.1 67,156 72,379 7.8
(HELH 1,486 1,634 9.9 14,820 18,080 22.0
(& 3) 156 156 0.0 1,646 1,843 11.9
(M7tZ=2) 716 643 | A10.3 8,000 7,413 AT7.3
(o g2h 1,559 1,323 | A15.1 16,600 15,458 A6.9
s = 5,867 7,329 24.9 63,593 79,396 24.9
5 = 9,253 9,853 6.5 89,260 96,976 8.6
= o 1,685 1,591 A5.6 15,421 17,968 16.5
s@3otelgt
==t 1,266 2112 66.8 12,256 17,817 45 .4
(c 19
=T 3 258 268 3.9 2,807 2,912 3.7
= (D SLES MY SI| U,
@ S0t AFs B2, AJIZ2, (109 ARQ THIYS

Ch. 84

(G491 0F 22f, %)

= o 17 11 18 113 EUE

g |58 | U8 |28 | U8 | T8

1.4 d XY 6,317 279 | 6,516 324 3.2 16.2
3 = 550 1 553 2 0.5 162.1
ESESERALIPN 1,661 40| 1,861 43 12.0 7.9
(EF ui) 23 4 34 6 50.6 44.3
= &) 86 1 85 2 20.9 67.6
o W+ AH|xY 2,585 217 | 2,448 261 N5.3 19.9
(A E) 392 29 451 47 15.2 61.3
(&&RH 1,108 38 879 54 | ~20.7 40.6
(=) 14 41 20 44 391 7.6
(BZ2E) 23 1 29 0 23.8| AT77.1
o H|LfT AH|XY 1,521 21 1,654 18 8.8 A12.6
(el &) 792 2 893 2 12.8 16.6
2. X oA 11,287 | 8,949 | 14,083 | 11,263 24.8 25.9
o 7 3,940 | 5,675| 6,061 | 7,595 53.8 33.8
o & = 1,237 503 | 1,399 512 13.1 1.8
o Z3Y = 527 187 532 198 1.0 5.9
o® X 76 2 81 3 6.7 20.2
o 7 F 236 123 245 130 3.9 5.6
o 33 & 2,489 | 1,388 | 2,749 | 1,660 10.4 19.5
o LN 1,127 514 | 1,150 582 2.1 13.2
o HEFZE 741 312 763 300 3.0 N3.8
o 7|Et 915 244 1,102 283 20.5 16.0
3. A 2 9,993 | 5,188 | 9,063 | 5,586 A9.3 7.7
o Z|ARet HYT|Y| 4,291 826 | 3,583 700 | A16.5| A153
o ™I HX7|7| 4,806 | 4,159 | 4,454 | 4,697 NT.3 12.9
(HESA17(7() 2,134 697 | 2,096 464 A1.8| AB33.5
(Bt ) 941 | 2,818 818 | 3,611 | A13.0 28.1
o F & | 638 183 906 177 41.8 N3.4
o 7|Et 258 20 120 12| AB3.4| A36.7
s A 27,597 | 14,417 | 29,661 | 17,173 7.5 19.1
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fHAxX 8E
(SS9l ot o)
’ L= ’ L+
T2 M7d 11 M8d 114 — 117174% 13?15% —
v | 7,694 4,931 | -2,762 89,705 65,929 | 23,777
o = 2,187 1,966 -221 16,931 12,755 | -4,177
g g2 -2,212| 1,577 635| -25,811| -22170| 3,641
E U -1,035 -291 744 -2,285 -4,999 | -2,714
s = -599 | -1,298 -699 1,475| -10,008 | -11,483
i Lt ot 6 55 49 -142 108 250
£ o} 6,944 8,045| 1,101 68,580 81,923 | 13,343
(H ELh 2,925 2,889 -36 28,874 26,449 | -2,425
& 3 3,596 2,953 -643 33,481 41,300 | 7,819
(M7tz=) 108 737 629 2,426 3,194 768
(ch2h -269 984 | 1,253 -2,926 3,977 | 6,904
s = -3,607 | -5,759| -2,153| —41,239| -59,239 | -18,001
R 4,748 3,771 -977 39,012 53,332 | 14,321
= ol 644 449 -194 10,492 7,851 | -2,640
%(%’%f %@ -530 | 1,043 -513 -3,666 -7,854 | -4,188
s+ A 864 932 68 8,160 10,096 | 1,935
x 0 OSHOF ARE B2, AJIE2, (29 A0 EEEUAS
15 -

0 2XSAEEL IIF)
1. =& &H
. E84
(9840 22, %)
- = 174 118 18 11 ,175 ’185
ZZE |17 11E 17118 | ZUE
1. A2 ¢ AT 778 711| A8.7| 7,088 7,219 1.9
2. 8l ¥ oz 4168 4,613| 10.7| 38,783| 50,821| 31.0
o MFHE 3,499| 3,962 13.3| 31,815 43,386| 36.4
3. 43¢ dE 2,976| 3,016 1.3| 32,942| 32,600 A1.0
o 7 A 118 13| A4.1 1,278/ 1,337 4.6
o A& 447 433| 232 4,768| 4,729| A0.8
o o|F 178 182 2.2| 1,827| 1,908 4.4
o 1nFEO ¥ FE= 265 296| 11.7| 3,338| 3,304| A1.0
o= 40 61| 51.2 524 418| A20.1
o &0|F 257 274 6.4| 2,645 3,022| 143
4. B3e SHE 42,720| 41,583| A2.7| 446,994 | 464,536 3.9
o 3 &= 5,873| 6,031 2.7| 59,363| 67,859| 14.3
o HUMZE 3,676 3,734 1.6| 43,014| 44,407 3.2
o Z|HFL U7 5,700 5,734 0.6| 57,460 63,327| 10.2
o MI7|-MXIHE 18,095| 17,706| A2.1| 174,516| 198,879 14.0
(7IHE) 653 622| ~4.8| 7,701 6,622| A14.0
(HES21717]) 3,103| 2,992| A3.6| 29,541| 27,869| A5.7
- HFH 826 754| A8.7 7,972| 9,680 21.4
- BMEAT|T 2,072| 2,024| A2.3| 18,682 15,994| A14.4
(B = Al 9,832| 10,833 10.2| 90,433| 120,211 32.9
- WHC|Hlo| A 1,132 675| ~40.4| 13,352| 11,008 A17.6
o = & 8,360 7,342| A12.2] 103,519| 78,725 A24.0
(8RS 3,857| 3,723| A3.5| 36,058 34,724| A3.7
(AHSARE) 1,766 1,784 1.0| 20,622| 20,355| A1.3
(4 gh 2,189 1,325| A39.5| 41,129 17,908| A56.5
z A 50,642| 49,923| A1.4| 525,807| 555,176 5.6

&4 SI| el Y.
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Lt. SIHXIS)E 2.

10
12
3
=
e
0 1

(Grgl:wor o)
174 18
17d 114 184 114 ~ ~ D )
=zt2 [1711€ | 17118 | =z= ST S 17 1844
= 7toH 1711 | 1711 E =7l
50,642 49,923 A1.4 | 525,807 | 555,176 5.6
H bl 8,628 3,089 | -5,540 90,857 64,095 | -26,763
6,323 6,714 6.2 63,146 65,700 4.0
o = 2,128 1,832 -296 16,764 12,166 -4,597
2,497 2,570 2.9 24,205 28,023 15.8
= = -2,235 -1,755 480 | —25,972 | -22,305 3,667
4,855 4,527 AB.7 50,535 51,555 2.0
E U -259 -810 —-551 -1,318 -5,636 | -4,318
960 787 A18.0 18,909 8,895 A53.0
k=3 =5 -637 -1,222 -586 1,379 | -10,017 | -11,396
381 486 27.6 4,446 5,262 18.4
7 ot ct 33 79 46 -99 86 184
13,217 14,104 6.7 | 136,308 154,091 13.0
= = ot 6,793 7,355 562 69,152 81,712 12,561
4,276 4,410 3.1 43,588 44,317 1.7
ELt - _
3,731 3,074 A17.6 35,232 43,450 233 (HEH) 2,790 2,777 13 28,768 26,237 2,531
= = -
953 1,039 91 10,951 10,554 36 (2 3) 3,575 2,918 657 33,586 41,607 8,021
1,254 | 2,141 70.7 | 13,578 | 19,253 41.8 (&7t==2) 236 396 160 | 2,951 3,141 190
2,221 1,488 | A33.0 | 22,330 20,301 A9.1 (th 2h -305 818 | 1,123 | -3,022 3,795 6,817
14,057 13,484 A4 | 128,127 149,751 16.9 £ = -3,646 -5,840 | -2,195 | -41,263 | -59,095 | -17,833
Z o 2,119 2,230 5.2 25,689 25,794 0.4 = = 4,803 3,631 | -1,173 38,867 52,776 13,908
=212t0dt = & ol 434 639 205 10,268 7,826 —2,442
714 1,061 48.7 8,578 9,915 15.6
c s =213y joist
N e -553 -1,0562 -499 -3,677 —-7,902 —4,224
(c 19
s T H 1,031 1,128 9.4 10,953 12,883 17.6
s T # 773 860 87 8,146 9,971 1,826
« =D BZES A )| UiHl 25
@ SHO &A= 82, &4tEZ, (o AH0| ZHIUS * = SO0 AENE 22, AJIES2, [J0to] ARO| ZE



